% wet | ands nmodel with inforned priors
O L L L T L L L L LT L L L L L L LT L L L L L LT L L L L L LT L L L L L LA L L
cl ear;

, [
s s s s s s s s B B s e s B e B e e
rand('state',37); %set arbitrary seed for uniformdraws

randn(' state',37); %set arbitrary seed for normal draws

% Set random nunber generator, start stop watch, open output file
r

tic; %start stop watch
| oad c:\kl aus\ AAEC6564\ nl ab\ wor ksp\ wet | ands;

% variable |ist

% study_id study ID

%2 obs_id w in study observation ID

%3 users percent age of active wetland users in sample

% | nwtp | og of annual wtp, in 2006 dollars

% Ininc log of nean (if reported for sanple) or nedian
% (if taken from census) HH inconme in 2006 dollars
% | nacres | og of wetland acres

% | nac2 l og of wetland acres, squared

acres=exp(data(:, 6));
ac000=acr es/ 1000;

y=data(:, 4);
n=l engt h(y);

X=[ones(n, 1) data(:,5) data(:,3) ac000];
% % contents of X

%

% 1 const ant

% 2 [ og(i ncomne)

% 3 users

% 4 wetland acres, in units of $1000
k=si ze(X 2);

%BBBB0088880000888808000888000008880000088880080000
% starting values, priors, and tuners

L L L L L L L L L Ll AL L L L L LA L L L L L LA L L L L L S LR L L L L LM%
% general elements

r1=5000; % burn-in
r 2=10000; % keepers
R=r 1+r 2;




% generic OLS
bol s=i nv(X *X)*X *y;
res=y- X*bol s;
s2=(res' *res)/ (n-k);

% el enents for beta
% el enents for beta

muO=[ 0 0. 9413 0 0. 0151] ' ;
i nt=[ 100 0. 404672 100 0.0065"2];
VO=di ag(int);

bet adraw=bol s; %use OLS values as starting draws for G bbs Sanpl er

% el enents for sig2

si g2draw=s2; % use OLS variance as starting draw for G bbs Sanpl er
v0=1/ 2;

tau0=1/2; %diffuse prior shape and scale

[ betamat, si g2mat] =. ..
gs_nor mal _i ndependent (X, y, n, k, r1, r2, mu0O, VO, bet adr aw, v0, t au0, si g2dr aw) ;

' GS done'

[fid]=fopen('c:\klaus\ AAEC6564\ m ab\| ogs\ nod2_wet | ands2.txt','w);
if fid==-1,
warning(' File could not be opened');
return
el se;
di sp(' Fil e opened successfully');
end;

% put all draws together & run diagnostics
al | mat =[ bet amat ; si g2mat ] ;
kdi ag=kl ausdi agnosti cs_greaterO(al |l mat);

fprintf(fid, total nunber of iterations =\t%.0f \n',R);
fprintf(fid, burn-initerations =\t%.0f \n',rl);
fprintf(fid, '\n');

% beta stuff

out =kdi ag(1: k,:)";

fprintf(fid, Qutput table for betas \n\n');

fprintf(fid, nmean\t\tstd\t\tp(>0)\t\tnse\t\tIEF\t\tnr\t\tcd\n\n');
fprintf(fid," %.3f\t9%. 3f\t9%0. 3f\t9%6. 3f\t%6. 3f\t%6. 3f\t%6. 3f\n', out);
fprintf(fid, '\n');

%i g2 stuff

out =kdi ag(k+1,:)";

fprintf(fid, Qutput table for sig2 \n\n');

fprintf(fid, nmean\t\tstd\t\tp(>0)\t\tnse\t\tIEF\t\tnr\t\tcd\n\n');
fprintf(fid," %.3f\t9%. 3f\t9%0. 3f\t9%6. 3f\t%6. 3f\t%6. 3f\t%6. 3f\ n', out);
fprintf(fid, '\n');

save c:\Kkl aus\ AAEC6564\ m ab\ wor ksp\ nod2_wet | ands2 bet amat si g2nat;




finish = toc/ 60
fprintf(fid,' Tine elapsed in mnutes \n\n');
fprintf(fid," 9. 3f\n",finish);

st=fcl ose(fid);
if st==0;
disp('File closed successfully');
el se;
warni ng(' Problemw th closing file');
end;
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